

Lisina 04)

01 - d

(d)  $\int \arccos 2x dx$

$\int u dv = u \cdot v - \int v du$

$u = \arccos 2x \Rightarrow du = -\frac{2}{\sqrt{1-(2x)^2}} dx = -\frac{2 dx}{\sqrt{1-4x^2}}$   
 $dv = dx \Rightarrow v = x$

$u = \arccos r \Leftrightarrow r = \cos u$   
 $r' = -\sin u \cdot u' \rightarrow u' = \frac{r'}{-\sin u}$   
 $u' = -\frac{r'}{\sqrt{1-r^2}} = -\frac{r'}{\sqrt{1-u^2}}$

$\sin^2 u + \cos^2 u = 1$   
 $\sin^2 u = 1 - \cos^2 u$   
 $\sin u = \sqrt{1 - \cos^2 u}$

Asim, temoi:

$\int \arccos 2x dx = \int u dv = u \cdot v - \int v du$

$= x \cdot \arccos 2x - \int x \cdot \left( -\frac{2 dx}{\sqrt{1-4x^2}} \right)$

$= x \cdot \arccos 2x + \int \frac{2x dx}{\sqrt{1-4x^2}} = x \cdot \arccos 2x + \int (1-4x^2)^{-\frac{1}{2}} \cdot (2x dx)$

$\int r^k dr$   
 $r = 1-4x^2 \Rightarrow dr = -8x dx$   
 $\frac{dr}{-4} = 2x dx$

$= x \cdot \arccos 2x + \int r^{-\frac{1}{2}} \cdot \left( -\frac{1}{4} dr \right) =$

$= x \cdot \arccos 2x - \frac{1}{4} \int r^{-\frac{1}{2}} dr$

$= x \cdot \arccos 2x - \frac{1}{4} \cdot \frac{r^{+\frac{1}{2}}}{\frac{1}{2}} + C = x \cdot \arccos 2x - \frac{1}{2} \cdot \sqrt{1-4x^2} + C$

02 - c)

(c)  $\int_0^1 x^2 e^{-x} dx$

$\int x^2 e^{-x} dx = \int u dv = u \cdot v - \int v du$

$u = x^2 \rightarrow du = 2x dx$   
 $dv = e^{-x} dx \rightarrow v = -e^{-x}$

$\int x^2 e^{-x} dx = x^2 \cdot (-e^{-x}) - \int e^{-x} \cdot 2x dx$

$= -x^2 e^{-x} - 2 \int e^{-x} x dx$

$u = x \Rightarrow du = dx$   
 $dv = e^{-x} dx \Rightarrow v = -e^{-x}$

$= -x^2 e^{-x} - 2 \cdot \left( x \cdot (-e^{-x}) - \int -e^{-x} dx \right)$

$= -x^2 e^{-x} - 2x e^{-x} + 2 \int e^{-x} \cdot (-dx) =$

$= -x^2 e^{-x} - 2x e^{-x} + 2 \cdot e^{-x} + C = (2 - 2x - x^2) \cdot e^{-x} + C$

For firm, for -u:

$\int_0^1 x^2 e^{-x} dx = (2 - 2x - x^2) e^{-x} \Big|_0^1$

$= (2 - 2(1) - (1)^2) \cdot e^{-1} - (2 - 0 - 0) \cdot e^{-0}$

$= -1 \cdot e^{-1} - 2 = -\frac{1}{e} - 2$

08-e)  $\int \frac{dx}{\sqrt{1+2x+3x^2}}$

$$3x^2 + 2x + 1 = 3 \cdot \left[ \left(x + \frac{1}{3}\right)^2 + \frac{2}{9} \right]$$

$$= 3 \left[ x^2 + 2ax + a^2 + b \right]$$

$$= 3u^2 + 6ax + 3a^2 + 3b$$

$6a = 2 \Rightarrow a = \frac{1}{3}$

$3a^2 + 3b = 1$

$3 \left(\frac{1}{3}\right)^2 + 3b = 1$

$\frac{1}{3} + 3b = 1$

$3b = 1 - \frac{1}{3} = \frac{2}{3}$

$3b = \frac{2}{3}$

$b = \frac{2}{9}$

Assim, temos:

$$\int \frac{dx}{\sqrt{3x^2 + 2x + 1}} = \int \frac{du}{\sqrt{3 \cdot \left[ \left(x + \frac{1}{3}\right)^2 + \frac{2}{9} \right]}} = \frac{1}{\sqrt{3}} \int \frac{du}{\sqrt{\left(x + \frac{1}{3}\right)^2 + \frac{2}{9}}}$$

$$\frac{1}{\sqrt{3}} \int \sec^2 \theta \cdot \sec \theta \, d\theta = \frac{1}{\sqrt{3}} \int (1 + \tan^2 \theta) \cdot \sec \theta \, d\theta = \frac{1}{\sqrt{3}} \int \sec \theta \, d\theta + \frac{1}{\sqrt{3}} \int \tan^2 \theta \cdot \sec \theta \, d\theta$$

$1 + \tan^2 \theta = \sec^2 \theta$

$\int \sec \theta \, d\theta = \ln |\sec \theta + \tan \theta| + C$

$u = \sec \theta \Rightarrow du = \sec \theta \tan \theta \, d\theta$

$du = \tan \theta \, d\theta$

$$= \frac{1}{\sqrt{3}} \ln |\sec \theta + \tan \theta| + \frac{1}{\sqrt{3}} \left[ \sec \theta \cdot (\tan \theta - \theta) - \int (\tan \theta - \theta) \cdot \sec \theta \cdot \tan \theta \, d\theta \right]$$

(...)